MAT 307: Advanced Multivariable Calculus
Potential fields: vector fields which one gradients of functus $\vec{F}(\vec{r}) = \nabla F(\vec{r})$
$\vec{F}(r, y) = (f_r(r, y), f_y(r, y))$
The function f(kg) is called the potential.
$\frac{F_{x}}{F_{x,y}} = (x,y) = f(x,y) = \frac{1}{2}(x^{2}ry^{2})$ $\frac{F_{x,y}}{\nabla f(x,y)} = (x,y) = \vec{F}$
Observation:
$\int_{C} \vec{F} \cdot d\vec{r} = f(B) - f(A).$ A

 \odot

To see why this is, let's introduce a
parametrization of
C:
$$\vec{r} = \vec{r} (t)$$
 as $t \leq b$
 $\vec{r}(a) = A$ $\vec{r}(b) = B$
 $\int \vec{F} \cdot d\vec{r} = \int \vec{F} (\vec{r}(t)) \cdot \vec{r}'(t) dt$
 c

$$= \int \nabla f (\vec{r}(t)) \cdot \vec{r}'(t) dt$$

$$= \int (x'(t) f_x (x(t), y(t)) + y'(t) f_y (x(t), y(t))) dt$$
by choin rule

$$= \int d f (x (t), y(t)) dt$$
Fundamental provem : differentiation is inverse to integrate
 $\vec{r}(t) = f(B) - f(A)$

2

Ź۸

Thus, as soon as we know the potential for a potential nector field, me immediatly know the work done by it along a Cuave by evoluating the potential at two end points. A C C C' SF·dr dops not depend on C, C connects A and B. 6 F.dr? Provided Thus

In 3d, the same holds. $\vec{F}(\vec{r}) = \nabla F(\vec{r}) = (f_n, f_y, f_z)$ ØF.dr? depends only on A and B. Example: $\vec{F}(\vec{r}) = -\frac{\vec{r}}{||\vec{r}||^3} = \left(\frac{-\chi}{|\vec{k}|^2 + y^2 + z^2} / \frac{-y}{|\vec{k}|^2 + y^2 + z^2}\right)$ di Fidi = ? c Clooks hard... But: consider $f(r) = \frac{1}{\|r\|} = (x^2 + y^2 + z^2)^{1/2}$. $\nabla f = (f_{x_1} f_{y_1} f_{z_2}) = (\frac{-x}{(x^2 + y^2 + z^2)^2}, \frac{-z}{(x^2 + y^2 + z^2)}) = \vec{F}$ Thus, $\int \vec{F} \cdot d\vec{r} = f(B) - f(A) = \frac{1}{|\mathcal{O}B|} - \frac{1}{|\mathcal{O}A|}$



Note: $\vec{F} = \frac{\vec{r}}{\|\vec{r}\|^3}$



Work done moving a body along a closed curve in a gravitational field is zero.

Most "perpetual motion" machines are based on the idea of moving a body in a field on a closed curve and hope to get som to get some work done. For example

Nothing will be done. Oh well...

Suppose the vector field P(r) is such that

This is the reverse theorem to what we have f_{now} , that $f_{\nabla} f \cdot d\vec{r} = 0$. D The above field É is such that SE-dr is path independent roof: B eig, O $\int \vec{F} \cdot d\vec{r} = \int \vec{F} \cdot d\vec{r}$

Indeed, to see this Consider the following A C' BD = C and C' together Curve

Cull that closed curve from A=A, D. Now, since Dis a closed path, so

 $\oint \vec{F} \cdot d\vec{r} = 0$

Changes Sign because ovientation reversed F.dr C

but

 $\oint \vec{F} \cdot d\vec{r} = \int \vec{F} \cdot dr$ $D \qquad C$

[Mus

hus $\int \vec{F} \cdot d\vec{r} = \int \vec{F} \cdot dr$. C C C'C and C' are orbitrary, thus integral does not depend.

Ð

Suppose
$$\vec{F}(k_{1}y) = (P(k_{1}y), Q(k_{2}y))$$
.

$$\int_{C} \vec{F} \cdot d\vec{r} = \int_{a}^{b} (F(k_{1}k_{1}y) + k_{2}) x'(k) + Q((k_{1}k_{1}y)) y'(k) dk$$

$$\int_{C} B^{2}(r, y) + (B') = \int_{a}^{b} \vec{F} \cdot d\vec{r} + \int_{b}^{b+h} \vec{F} \cdot d\vec{r}$$

$$\int_{a}^{b+h} F(B') = \int_{a}^{b} \vec{F} \cdot d\vec{r} + \int_{b}^{b+h} \vec{F} \cdot d\vec{r}$$

$$\int_{a}^{b+h} P(x_{1}k_{1}y) dk$$

$$\int_{c}^{b+h} P(x_{1}k_{1}y) dk$$

$$\int_{c}^{b+h} P(x_{1}k_{1}y) dk$$

$$\int_{c}^{b+h} P(x_{1}k_{1}y) dk$$

Thus

$$f(B') = f(B) + \int_{b} P(x(H, y|H)) df$$

$$\approx f(B) + P(B) h$$
But

$$\frac{\partial f}{\partial x} = \lim_{h \to 0} \frac{f(B') - f(B)}{h} = P(B) = P(x,y)$$

Similarly

$$B'=(r, y+h)$$
 we find $\partial f = Q(r, y)$
 $B=(r, y)$
A

Thus
$$\nabla f = (P(rry), Q(rry))$$

 $= \vec{F}$
and we found our potential field by
computing the integral of \vec{F} along any
path connecting A and $B = (rry)$.

 \bigcirc

MAT 307: Advanced Multivariable Calculus

Conditions of potentiality of a nector field

Suppose F(x,y) = (P(x,y), Q(x,y)) is potential. This means that there is an f so that $Q(x,y) = \frac{\partial T}{\partial y}(x,y)$ $P(r_r g) = \frac{\partial f}{\partial r}(r_r g)$ Consider $\frac{\partial P}{\partial y} = \frac{\partial^2 f}{\partial y \partial x}$ and $\frac{\partial Q}{\partial x} = \frac{\partial^2 f}{\partial x \partial y}$ But partial derivatives commute (Clairot thm) so that $\frac{\partial P}{\partial P} = \frac{\partial Q}{\partial Q}$ dy dx Thus, given a field in the plane, you can look at <u>op</u> and or. If equal, the field is potential. If not, then the field is not potential.

Ex:
$$P = e^{x} \cos y$$
 $Q = e^{x} \sin y$
 $\hat{F} = (P, Q)$
 $\frac{\partial P}{\partial y} = -e^{x} \sin y$ $\frac{\partial Q}{\partial x} = e^{x} \sin y$
Since $\frac{\partial P}{\partial y} \neq \frac{\partial Q}{\partial x}$, \hat{F} is not potential.
But
 $P = e^{x} \sin y$ $Q = e^{x} \cos y$
 $\frac{\partial P}{\partial y} = e^{x} \cos y$
 $\frac{\partial Q}{\partial x} = e^{x} \cos y$
They are equal, s. $\hat{F} = (P, Q)$ is
potential. The potential function is
 $P = f_{x}$ and $Q = f_{y}$
 $f = e^{x} \sin y$ works!.

What happens in 3D? What is condition for potentiality? $\vec{P} = \vec{P} \cdot \vec{Q} \cdot \vec{P} \cdot \vec{R}$ $P = \frac{\partial f}{\partial x}, \quad Q = \frac{\partial f}{\partial y}, \quad R = \frac{\partial f}{\partial z}$ $\frac{\partial P}{\partial y} = f_{yx}$ $\frac{\partial Q}{\partial x} = f_{xy}$ From $\frac{\partial P}{\partial y} = \frac{\partial Q}{\partial x} = 0$ $\frac{\partial P}{\partial z} = f_{zx} \qquad \frac{\partial P}{\partial x} =$ fx z $O = \frac{46}{36} - \frac{46}{36}$ fzy DR = fyz 26 72 = $\frac{\partial Q}{\partial z} - \frac{\partial P}{\partial y} = O$

لك

These identities are familiat, they are the three components of curl F 1 $\begin{array}{c} i & j \\ k \\ curl \vec{F} = & \partial_{\chi} & \partial_{g} & \partial_{z} \\ P & Q & P \end{array}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{x}, Q_{x} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{y} - P_{y} \end{pmatrix}$ $= \begin{pmatrix} P_{y} - Q_{z}, P_{z} - P_{z$ Conclusive: IF F is potential, then CurlF=0.

Note:

$$\vec{F} = P(r,y)\vec{i} + Q(r,y)\vec{j}$$

$$ry = 2D \quad defines a vector field in 3D$$

$$\vec{F} = P(r,y)\vec{i} + Q(r,y)\vec{j} + O\vec{E}$$
what is $cuv r^{2}$

$$what is $cuv r^{2}$

$$ruv r^{2} = \left| \begin{array}{c} i & j & k \\ \partial_{r} & 2y & 2y \\ \partial_{r} & 2y & 2y \\ P & Q & O \end{array} \right| = (o_{1}o_{1} & a_{r} - P_{3}).$$
Thus 3D condition for potentiality reduces
to five 2D condition:

$$\frac{\partial B}{\partial y} = \frac{\partial P}{\partial y}$$$$

Det: A vector field $\vec{F}(\vec{r})$ is called irrotational if curl $\vec{F} = 0$, Theorem: Potential fields une irrotational? Is the opposite true? To some extent, it is true (in general, not). It depends on which domains we consider, e:g. if the vector field is defined on all Space, then yes. But in more complicated lomains, it can be false. Det: Domain D in the plane is called <u>Simply</u> connected if it contains

Simple but deep example $\vec{F} = \left(\frac{-\gamma}{\chi^2 + \gamma^2}, \frac{\chi}{\chi^2 + \gamma^2}\right)$ Vector field is defined everywhene but at the origin. Thus, it's domain is not simply connected. $P = \frac{-4}{x^2 + y^2}, \quad Q = \frac{x}{x^2 + y^2}$ Is 7 irrotational? z (zz) $\frac{\partial P}{\partial y} = -\frac{1}{\chi^2 + y^2} + \frac{1}{\chi^2 + y^2}$ (x2+y2)2 $= \frac{-\chi^2 + y^2}{(\chi^2 + y^2)^2}$ $\frac{\partial Q}{\partial x} = \frac{1}{x^2 t y^2} - \frac{x(2x)}{(x^2 + y^2)^2} = \frac{y^2 - x^2}{(x^2 + y^2)^2}$ Thus $\left[\frac{\partial P}{\partial \tau} = \frac{\partial Q}{\partial r} \right] =$ irrotation.





Consider a function that looks like it's potential: 5 (7,7) $\arctan\left(\frac{y}{x}\right)$ X 70 Q(x,g) = $\frac{\partial \phi}{\partial x} = \frac{1}{1 + \frac{w^2}{x^2}} \left(-\frac{\partial}{x^1} \right) = \frac{-\partial}{x^2 + y^2} = P$ $\frac{\partial \phi}{\partial y} = \frac{1}{1 + \frac{y^2}{x^2}} \left(\frac{1}{x}\right) = \frac{x}{x^2 + y^2} = Q$ $\vec{F}(x,y) = \nabla \psi \quad if \quad \chi \neq \infty$ Thus

(10)



 $\varphi = \operatorname{arccot}\left(\frac{x}{y}\right)$ y70. Now can check that One F(x,y) = 70 for 470. Thus in right half plane the potential is defined by $q = \arctan\left(\frac{\gamma}{x}\right)$ upper half plane In $\phi = \operatorname{arccot}(\frac{x}{3})$ In the overlapping negion, both functions give same negative

ίn

In the left half place (x<0)



 $\varphi = \arctan\left(\frac{\gamma}{\lambda}\right) + \Pi$ x <0

In lower half plane (yco)



Thus when we make a full turn the angle becomes 2st (not 0). Thus, the "function" angle is not a single function. It grows from 0 to 21 in one rotation, and if you continue it keeps growing (if you want to keep it continous). Thus it is not a function, rather $\varphi(x,y)$, $\varphi(x,g) + \ln \pi$ $n \in \mathbb{Z}$ any all "branches" of the angle.



Domain Should have no holos, so that is defined everywhore and would be continuously differentiable.

Theorem: It a field is protational in a simply connected domain, it is potential in this domain.

Problem Suppose
$$\vec{F}$$
 is unotational field.
How to find its potential $f(\vec{r})$?
Example $\vec{F}(r,y) = (4x^3 + 6x^2y, 2x^3 + 6y^2)$
 $P = 4x^3 + 6x^2y$ $Q = 2x^3 + 6y^2$
 $\partial P = 6x^2$, $\partial_x Q = 6x^2$
 $\partial P = 6x^2$, $\partial_x Q = 6x^2$
 $\Rightarrow x \text{ is invotational defined on all the plane \Rightarrow potential.
There exists f such that $P = 2f$, $Q = 2gt$
 $\frac{\partial P}{\partial x} = 4x^3 + 6x^2g$
 $\Rightarrow f(x,y) = \int (4x^3 + 6x^2g) dx + C$
 $f = x^4 + 2x^3y + C$
 $\int e^{rnd} f^{rmd} = x^4 + 2x^3y + C$$

$$f(x_{i}y) = \chi^{i} + \lambda_{i}^{3}y + g(y)$$
Must find $g(y)$. Use...

$$\frac{2f}{\partial y} = Q$$

$$\frac{2f}{\partial y} = \lambda_{i}^{3} + g'(y) \quad B_{i} + Q = 2\chi^{3} + 6y^{2}$$
here is where is where is where is where is where is where $f(y) = 2\chi^{3} + 6y^{2}$
Thus IF done for an $\chi_{i}^{3} + g'(y) = 2\chi^{3} + 6y^{2}$
Field will $g(y) = \chi^{i} + 6y^{2}$

$$g'(y) = 6y^{2}$$
Field will $g(y) = h(y, y)$

$$g'(y) = h(y, y)$$

$$g(y) = \int 6y^{2} + C = 2y^{3} + C$$
Field $g(y) = \chi^{i} + 2\chi^{3}y + 2y^{3} + C$

$$g'(y) = \chi^{i} + 2\chi^{3}y + 2y^{3} + C$$

$$g'(y) = \chi^{i} + 2\chi^{i}y + 2y^{3} + C$$

$$g'(y) = \chi^{i} + 2\chi^{i}y + 2y^{3} + C$$

$$g'(y) = \chi^{i} + 2\chi^{i}y + 2y^{3} + C$$

$$g'(y) = \chi^{i} + 2\chi^{i}y + 2y^{3} + C$$

$$g'(y) = \chi^{i} + 2\chi^{i}y + 2y^{i}y + C$$

$\chi^{3} + 6y^{2}z, 2y^{3} - 3z^{2}$
$= (6y^{2} - 6y^{2} - 0)^{3x^{2} - 3y^{2}}$ $= (0, 0, 0)$
1. These exists I suct that
$x^{3}y + g(y,z)$
$= x^3 + \partial x$
$g_y = 6y^2 z$
$z) = 2y^{3}z + h(z)$
$h(z) = -3z^{2}$
c) h= z=+ L This comes this comes this comes this comes
K B exact equations.